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First experiences of subtraction should be
practical in a real life context before using the
-symbol

For example. If there were 7 sweels and 3 of
them were eaten, how many would be left?
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First, there were 7. Now, there are 4.

Before mowing on to @ more formal method.
continue using practical examples. Use the
- symbol, teaching the concept of ‘taking
Wy

For example, there were 5 balloons. 2 blew
away. How many are there nows
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5-2=3
Five take away 2 equals 3.

Drawing and crossing out s an effective way
of starting to form alise subtraction.

For10 -4, vou need to draw

'_' ten circles and cross out 4.
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In Year 1, fluency in camying out subtraction

using a numiber line should be masterad.

Foré - 3, you should start on the number & and
count back 3. The answer is & The number
sentence is8 -3 =5,
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Misconception Aler!

Remember not to include the
starting number in yoursteps
- backwards!

Az more confidence is built with both addition
and subtraction, links and patterns will start to
seen between them.

With 2 numbers, you can write
& different number sentences.

4+1=5 ° 5=4+1
1+4=5 5=1+4
5-4=1 4=5-1
5.1= ° o 1=5+4

You can use your knowledge of number bonds
and fact families to help find missing numbers.

+2=9

If something add 2 equals ¢,
then % take awoy 2 equals the
missing number. [know it is 7.
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Recd and wiite calculations
wsing + - and =

lUse number bonds and
related subtraction facts
within 20

Add and subtract one and
two digit numbers 1o 20,
Salve missing number
problems

When carrying out addition the mathematical symbaols
+ and =should be recognised and applied. n

For example, if there are 4 orange and 2
blue counters, there are é counters in total.
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. This can bewitten as 4 +2 =&,

Four add two equals &,

One strategy used when adding is counting all of the

symbol

objects to find the answer. Fors +4 =9, you count to 5

before counting another4 toreach 3.

add

maore

plus

make
altogether
subtract
take away

less

00000

equals

number bonds

number line

Another strategy to use is counting on from the first

umber to reach the answer,

OO. Fors +4=9% youstart at 5 and count on 4 more.

000 00
o0 00

Itis important to undestand all of the ways that each
number to 10 can be partitioned. Thisis called a
number bond.
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These are all of the number
bonds for the number 51




